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Passage:

et tefifefed T ufdar vy fasearaeaa: Ifaaanm S fuar frgdl

e yyHaT SRS e Far Rasie: 3 Ui e FRaqdahe R | Herdmisy ffaurg ymr sidta Fendisyad | 3Rl Oigd 9 fafaur g faftrer & v diyong off
pigdm: sl TR 3’ TRpaealy faRmafisr TeIwes, SHUREHH THIUHREEE, SueHHuETRRasS Hai TR

TRETA saere 37 fRfd SSRIsTe Hafd TRE-sm | S1e S W e WRATLH: SiE: nfaurd | e i TerTerd sfirrard faefadigR IsHaAq SRaqH: Fesidisyadq) 1 gha
AT : HETHIa: ARG Wiadamn: St G-xiea Hia-a1 HRaa| Taed S G-Risied ufaure fava: | anfavmaey S fafae 3 a-ieiaar oelsf@ aufafa

Q.No: 1 el WuHadl S FRIp=ierd fidd &: $aary

A anfied foma
B PTG |
C AR

D ERGELEIRpEa bR aEl]
Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hhat:— i et ufdar vy fasearamaa: Sfuaany S fiar frad|

e yyHaT HRRFTGIe faadH Fal rawiier: 3R uRifE Tk SRdaiaRme R | Ferimsd fAfdurg 1 sl Fendisyad | 3R Oiga 7 Ry g fafrer g wmmr: o off
"o TAf TRIGRT SR WGPy fIRRafaerd TeHTery, &HIUREHH JIWUETdeH, AU yueusRaess fAal uRist|

AETRIIR Saeed a7 R SSuieed Hafd TRa<sm | Sl S W a1 IRAVYH: HIEC: Ui | il e HerTod SfiTEr efdigR IsHaAq PragHad: MepRidisHad| ¥ sRa
qT : TETHIA: TG Wraam: Tt I=Reva Hiaal Hdar | Ted SR S<=Isiand ufaure fawa: | griavfras S fafdem 3 a-ieiaar selsfEm avfafal

Q.No: 2 uftea: - gadf werd wgat ug e

A |
B |
C EEti(
D Eacd]

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- AR el ufdear v faseaEsiaRea: Sfaany I e firea)

AT T ARG aa e Fan Fawiiaer: 3 uRifE uraar SRaaiafmeiRhrR | germisy Rfdurg weRy sifia Femdsyaq | et Wea 9 Rfaur I fafirer @ i gy sie
"FHleardm: 3A TRie o’ WNyaeay faRTafasd Ty, AHTIURGgHT JaYUTHRAE Y, SUHHUGURIRASS ol RIS

ARTETRIR sare a7 fRfRe SmaTe vafd FoRaem] | F1e St W e TeAyyE: SE: ufaur | i e werTorRa st fosfaaigR IeHaT draaHea: Fesidisyad) w: sha
qel G TRTHIa: TR Wiraar: Wit S3=era e IR Taed o/ J=Riaiard yfaur fawg: | anfauiaee 3Raw fafaum 3 meiiaa sreasfar aofafal

Q.No: 3 o farferd g=rebred fH?

A YFEIH|

B TG

c ORI |
D Hiraaem|

Correct Ans : C
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Subject : Sanskrit Bhasha 02

Passage:

G- AN el ufdear wu fapeaeEsiaea: Sfaan S e firea)

S Py SRR fdad Fan ‘SRaeiiaer: 3ia aRifE Tkar SRaaHafas iR | AeTHIIsd fafaurg wmrg orfia fromdisHad | et Sga 1 fifdur IR fafrer w vmmn: gy ore
"FHlegrdim: 3at TRiew oG WNyaeay faRTafasd Ty, AHTIUNgHT JHYUTHRGEY, SUHIHUGURIRMSS vl TR

ARaTRIfR sfaars A faRfad Ta=IeTed Hafd HYRE-aRIH | BIa SR W e TRAvy: SEER: afaura | siiied foeie R st fasfidigR IemarTq draarea: Aeiidsyag) @ gRa
qeT T TRIHIa: HgRAd Warmn: Wit I=<=ga gl Iaa| Taed SR G-<=Ibiond ufaure fawa: | AnfauiArast Saw fafqem 3w a-igiaar selsfE aufafal

Q.No: 4 T P I AHAq?

A ST S|
B ghvare 2
C TR

D SRR

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Hba:- Sefififad et ufdwr v faseaamaa: Ifaasm S e frgdl

R JHHT SARAG e gt Sl ‘Radiieers: i TRl Tdar SreaauaicreIitkigR | HETHmsy fafaerg 1oy Sidia Femdis Had | Sxedt §8pa 9 fafas o= faferst | yromn: 9o i@
R 3N TRie g ey RARTafiey HerHer, SHTIUNGH JHYUTARGEY, NUsHIHIGURRASS Mol TR

Timaraifa saarer o favfad SeRETe Hafd AgRERM | 1o SR W e wRavyE: SIS ufaurek ) s e meRe it faefaaigR IsvaTq dradtiaa: Aei@isyaq) @ gRa
Tl §: HRTH(a: TRIRAS TITaHI: St T<ReRa a1 URdar| Taed S S<xeeasd Niaume fw: | AnfauHas Seed fQfdur] S Feiadn $reas e aufafii

Q.No: 5 HgH 9 ol Hfa: ¥ - wAaud e

A RIS

B TR a:|

C fremsia:|
D gftga®fa: |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- SfeNfeiad el ufdear uy RiseEsa:a: faany I e fogdl

R TYHT SRR fadtd= Pt HRewiare: 3R WS Trar FReHaRmhES R | Ferisy Rfaurg 1R srdta Aendisyad | et Sepa g R IR f[ikre g wman: teoe siw
Figadim: Tl TRE 3’ SRpaealy fIXrefd TeTeHTes, 4HIURGEHH JHIUHRAEH, SemHIgIRRaeS Fadt g

TfaTeRifar sfaarsg O faRfd SRIsTed Hafd TRE-GR | SIa S W S Raye: S wfure | onfied fosre] Hermra siftraward fasfidiaR Teidean dxagHes: Fiidisyaq) 9: 3R
AT G: HETHIa: HgRAe Wiadrm: THIT G-xeRa HIaal HRqar | Tad SR G-It ufaure fava: | anfaufHrast S fafde S a-ieiaar s avfafal

QNo: 6 s — ye=ae fama|
A w1 + R

B FTA + HEFAI

C FHRAR + 3

D FA + AR

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

G- SNfIRd TRl ufdear uuE Rsamsaa: Ifaam Sw e fred)

e YA SPRAGae fad Fal Prasie: 3 TR Taar SReaHahe awyRA | HerHmisy f[fdurg 1 siitd Fendisyad | et O5pa 9 fafayr 7 faferer & v diwong off
‘R 3N TRis o/ WRpaey RARTEer FeTHer, HIURGHH JHIUTERGSH, NUsFHIETRRASS Fai TR
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TfaTeRifaT sfaeed o faRfad T=mreTed Hafd AgRa-R | FIe iR W ST WOyuF: S ufaurerd | snfied faed Herer siftiar fasfadisr IsHarTq Sraarse: fsmidisyaql : gRa
Tl G: HRTH(d: TRIRAS IIaH: Gt F<ReRa a1 URdar| Taed 3 S<xdead Hiaurel fw: | anfauaay S e S seiad $reas @ aufafil

Q.No: 7 IR IHT PRAIR Fgi: G| 3 F: DR:?

A <l
B el
c =
D =1

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

- SAefrad Ml ufdar yu fiseeEsa:a: Ifaany Iw far foreal

e yyAaT SRS gt P SrawiiR: 3 Ui Tadr FRaaHaRIe R | Herimisy fAfdurg wiy siita Femdisyad | el Opa 1 fafayr g faftrer § v dion o
Fieadim: Taf IRE o’ Spaealy fXRefae TeTeHes, 4HTURGEHH JHIUHRA®H, SemHIguRRaes Fadt aRE|

AT S a7 R S<RieTed Hafd TRa<gW | S1o S W a1 WRATYH: SYE: ufaurd | siflied e HerTed i@ frsdigy IsHaTq SRaard: MeiidisHadq| 9: 3ha
Tl G: HETH(a: TRASG A Gt S_ReRa Hia-al Ifdar| taed o/ Sexdreasd Ul fawa: | anfavfaaey deer fafdur 3= weiRaa sresfa aofafii

Q.No: 8 FRABICIGR: &:?

A e feeq
B Fifcar:|
C wrfafaerel

D FRAaHa RSB IRREGRF)

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

bt~ SHefifTiad gert ufdwn HaHT fasaurae g Sidary S fwr e

Rt TS Srfare: |
wfamsnfa e &a: goa gemafasmw: 1

Q.No: 9 fi ufaa= wafae

A B
B SFfiftaT
c anfier
D R

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:
Tt~ refifaiad uet ufdan uamt s euraeaya: Siaany S fuar faad

et deaurIels: SnfaEER: |
yfawsnfa 8 99: o geraafama: I

Q.No: 10 formfr 3ttt wlaei wafa?

A £ TR
B it: foRIaRomq
c R SR

D A SNfAHRIG

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

Haba:- efifefad yenst ufean uymi fAdearers a: Ifdany Sw faar firad|

S deaTrafs wrfamer: |
wfasfa f& &a: g9 gomafasa: 1l

Q.No: 11 37: % ufassnfa?

A e
B YIS HOT
C YIRS
D L EIIGE

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

ek~ sefiffad veri ufdwr wumT s auras avg: Shrdary 3w e frad

it aeamrefe arfemme: |
ufdasfa 8 ¥3: goa yusaiasma: I

Q-No: 12 3@ el fpamad fwe

A SR

B TS

c I

D yieefy

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- Sefaiad TeiRi a3 Uy Rseararssa: faany I fer firgd|

R TeaRIRf anfaEe: |
Ufaewiy f§ ¥9: g9 garefasa: I

Q.No: 13 3#H:" 307 &1 faufde: 2

A qeiar
B wgel
c gt

D il

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

G- AR e ufdwr U fRiseararaasa: Ifaamy Iw e firgd|

£ dgaTrIels SrfaHe: |
wfauf ¥ &a: goa gerafasH: 1l

Q.No: 14 97: 33 U Ta=lsa: F: ?

A Bt
B g
C x
D o

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Passage:

ek~ Sfefifiad veri ufewn wyHT s euree avd: Siaaay S far |

S deaTrafs wrfamer: |
aRas i a: goa qemafas: 1

Q.No: 15 ey gas 3 a2

A SifrEy
B SFfEH
C ey
D e

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 faamf i o

A il
B T q
c L

D foremm

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 17 vardfesea i aragfay?

A g ydfefr Sfa

B RIUSRM Fel: Har
c aTort i T

D T S T

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 18 ufye: Tge: o - g fpaal

A RHH
B R

c pidcTd
D R

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 19 sishfif@a™ aren Ffared uladi=g |

&3: rorm e fraw
A Q: dRom e Ttk
B ar: o e maf
C aar: dRome 3 faw
D <@: FRrom e

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 20 FrIEHwR "y S SHfmmm &t
A TSR S TR

B HIYT: ST WI6T,

C UTSTAT: STHRUR TS

D TEERITIeTue T

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 21 wifdman: Rigid $w sragadar 7 Hafd?
A e IRV
B
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C ?ziﬂanQT:

D Hgeidn:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 22 TS WUfPHaIRG! w:-
A AV I
B HUTMTHURIRIE
C JSTHAVBIRIGT
D YSTAGTR IR

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 23 efififaaY S=RY GrTon AR &: Iu: A S -

A ARG i
B FremiEifar

C TrefaTEHRiRTaT
D Ricuericuins)|

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 24 BHIUH SHRVI-GUH GBI HIIRIES: USRI SR M URa: aq

A RaLIGEIE]
B affee
c T
D epffem

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 25 flamemarn: Fa BT FURH U SHRY ] FISTH AR | I8 SrfsafFaRom fafafed-ary @: anf: 9dd yHEaerd waq 2

A SRIIRRISEH TYHSHEAMHR (minimal pair activity) ST $ATq | T4 91 SHEF qUITERO FRI Wy T 0T SIRRIF T $RIq |
B o S=: a1 Pl fafga! it e afewd faRol g |

C B: U: TR SN PRI I au Hifd=aed Farei ufgsaf

D Rifgre nygE Tt el Sugsicd o fiRkwarier fRisEReRR vexH Fald |

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 26 faenffai wvmn: sraeRe swad Fafefeay i waifid agwyuiq ?
A Eéﬂﬁi{fﬁ%ﬂ (rating scale)

B TAYMH (portfolio)

C qEfan: (interaction)

D FRRTERE (check list)

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 27 "§TeT: HTSIeATTYH Srfademal [REpd Sl Haf1" : 3(@aaq ?

A EILiicss (Vyogotsky)
B Uﬁ?'ﬂ?{ (Pavlov)

c S 9FIE (Jean Piaget )
D TP (Chomsky)

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 28 1w FR=Rdl TRy, SHerg e ° $F 94 &7 ?
A @EIRUF[ (Correct pronunciation)

B [EREEE RN e

C JIH-Te&Tael (Correct vocabulary)

D RSP (Project work)

Correct Ans : B
Subject : Sanskrit Bhasha 02

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

6/43
Page - 6



Q.No: 29 ufdaugurmiamany Sexm: war: yafw

A
B

D

A UIGaRIH HRSA0 GheRY

2 gr Fefwfr St afeg emeafy

T QURUN WIHH ST R Hiedrg @
ode

Y YTETAH NeqH IRT1Y TGN By

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 30 Hisfy Afdd-amar-urg: SR g fawm: 2

A
B
C
D

IER- it
Rrg-ang: gt
IS &R - FaH
IA-BIRA-TEH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 31 ITRIES e F g Teayyf 31
A Y Ay

B o7 femif

C GH-FHFHR ST 7T SEARTHE FIIHH

D UIGT-GID! BT TRt

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 32 e T & 9% < 0% Sl T HIaUa T &9 T o & | Ffcfea ¥ 6w 1o o1 Wdy wanes § T 82

A
B
C
D

Afdd 31 B
priciicea|
TRIGR 1 ISR
TRIGR

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 33 FYDPTIIT T 9HeH 31 St g o el SR Riere Ruffa qedt o) fwn & = €1
A Teie; g

B oe; IR

C Hedied; A

D W;Gm

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 34 Wiy TR W =i @t 1 et & g # Fuffed § § $F-3 TF o 82

A
B
C
D

FUR F 1 R B 91 919 fRewfrl 7 e snam 3 w= 6 sehy Sad 8 wad 81

T TG MI-aRa  Teo R Wa: T F Hiw F uReel 1 a

T YT B wied ik WG WReeh & ury R o 1

el P HI-GeeaTIan IR Rrered & vaka v aRaw § AR € v e H e g

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 &1 'TH 3R ' & T & fo1Y 37U B G Bl B! HT 9G4 HLI?

A
B
C
D

S Sga Bt |

o wga IR uE &

forad A S uE &

Toraes e, ardt ol Tesht & auf @ et Rerers g

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 36 TI-Rerr 5t 1 & e Ry & wiear wrwn Ry s s 1 wriT =7 fosa oirer @2

A

wees fafy
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B e faftr

C SR fafYy

D T fafy wd srgavor fafy
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 37 P § 9 v 3 Ruan ¥ fRm < ot 31
A of 75w & forg

B sifdreafat & fig

c 31 g0 ok siftreafa & g

D TS & g

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 38 7/ # § Tiew e 31 Iuged fafy $1- 32

A Sigede fafy
B Fa v ffy
C s fafy
D grgare fafy

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 39 = & ¥ gE! & a1 Uen & T faerea # FmfaReaa st # ¥ fevwer wim fasan s gaar 2

A Faat gt o1
B FIq TR BT
C Faq et B
D qTaieTd, TRt Td Sfient &1

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 40 1 & ¥ gt urew=af & T T B AT BT SN o [l off Fobal|
A -

B HHRU-Fmf

c Te-feiRor

D -0 e sreRr-fmfor

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 41 3R Sy Wl F F1eAd F SEl # ooy e Feieh Hfe% &1 Fawor g g2

A IR S EAT R

B IR T HHES I Sl &

c foraor &y et ot wran B

D T HHEE I Sl el S} Tidl

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 42 ST Rrefur & i wIyT & iffwrgu ¥ J<d uae uef §

A Faq g
B Faa g
c AT T UG
D HId eI

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 43 VTH1 3} UTeT e & Tl &1 7o 39 SU A § i

A F% 3T & TSy T QU gl 1

B @ g 3 ST 3 T 5 S 5w Gt 7% & Fe 31
c 5 S P -3 & ARy SR S TR g

D g M BT TH-U S BT THHT SR 2

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

8/43
Page - 8



Subject : Hindi Bhasha 01

Q.No: 44 wHaw fafy wged et 3-

A g fugor §
B i fueor &
C Tpiat Rigor §
D Fay figror

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 45 faar Riefn &1 4o S2d 91 82
A urat BT SRy IR S

B Id} @t Sgyfa IR
C 3Tg BT HIR BT
D GE BT YuR HRET

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e 9 R e T ) ggaR IR T uRHl ¥ 99 IR IaR 919 [wed 31 9o Fifm-

SfierFd FHEER AT P UG 3R ik B IguIed Hal o1 I, TRIGT 3R ufds R €t <ia 81 2fagad SaeR vde fd & Rie Raws 31 399 79 @ @l Ted) 81 Riiaar i 9eeT ged ik
T BT 3R T3g 31 Rufal Ht Io=1 T Bl 39 T g arareRor i grar @ e wdt uaerr a1 srHa v 81 iaa safdd o wigd & o ara et anil ) gunidd aRa 81 =i 3o uyayq
SR

SfIER- sty Rier-Rienell, Brei-agt snfe At & fere feged sraeR T0F wU F smavas g1 Riendf & fia &1 g § df 95 o e | gifea fan v 76 = Ioan aar sifert ar st &
-1 IHF Afead H A 3 SR g1 59 Sed 0 B Jurdfa H Sifier @ iR sy Fefamial & s, Rigremo iR el & € qun s SR i & e AyR @ wie S wifie B §
o1 & T § BIe-I-Bel Afdd T 3t Tyl 3ifid R T B

i B gef iR 3d) o7 7 §1 59 U1 B S Biar i werar €1 RIS GEPR 59 07 &Y Rk R AR o 3 € Y sr aa 81 79 YT 6 sl w@d a1 war 81 e, 7, T
IR THHT o BT ¥1 TP BT & A 1 g et S 3T ¥ g 101 T DY A=Y o4l B TG ST €1 39 ST 01 B 3 S B = ST ST YAF BT FT IRA FNA o) THI T B R
gl

Q.No: 46 Iudad TR F IR, Megad AR TAF HI9 & e Raaw § Fife g9
A HEA R Bl 81

B iy forercht &1

c 3 A gl el 81

D oA B e e

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

fd=r: 9 fo TIT TR $Y UgaR O T Ul & 9ed 3R IR a1 faded 31 99 Fifve-

ferged SEER 799 P Ui 3R Al B Iguied Sl 81 I, TKEY 3R 9l 3Ry € <ha 81 Wiaged waeR Ude ok & Rig Raw 81 599 795 B @l god) 81 Yiar safd geeT gad ok
T T SR W3g 3! Rufeal Holt I 1 Biell 1 38R a1 g arararor giord grar @ o wdt vReran o1 srHa v §1 e afdd soH wiad ® o ara et dnll & guunfad awar 31 =i 3o wyayq
SR

SHfAIET-srefir, Rieen-Rienell, Bici-ast snfe Gt & fry feged sragR A0 wu F siawaw g1 Rierdf & ia @1 omuig § o 9g oo Riee & gifea fRam v 78 ax goan ear sifiert ar s &
Y-y I Hfrd F R 31 SR 81 3 e o1 Bt U & iRt nf oiR st et & o, Rigrmon iR fenfidi % g qur e SR it & &9 7R vl v ey wifdd 8 §
01 & AN q Bie-T-BeT Sfad el Pt Tergufer 3ifid B o B

2id IS gy AR & 707 T B1 T 01 Y ol A o TwHar §1 TRAIRS THR 39 0 &) fAsRia ok faaid S & 9 Y ot SR 81 ga 4T At oafdd W et R g1 fRieH, T, T
IR ZHE! I ST 21 URpd TS & aRa &1 I8 2ia =T 3T 31 I8 707 IS 3 9= 3pdf & Ta 91T 81 39 3] U1 1 30 S &1 =1 37T ST Udds Hgd BT IRA Hocd 1 399 T B IR
gl

Q.No: 47 -TOr fffa fevam < we 31
A Wi H R

B T Y

c T T3 T AT §

D W4 & o, 79, ST O Had oy |

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

fE=r: 9 o TIT TR $Y Uga) U T URAT & e IRId IR ard faded @7 9 Sifve-
ered aER A @1 P SR SAfdaa i Iguiied HXal 31 Sa, TR SR ufed ol € e 71 Yiegdd SaeR Wde e & i fede 31 S99 A & ©fa Jed! 71 i safdd 99 gad ik
T TP 3R e P Rufel Hi S R S| SO T g ararary Gioa B ¢ o Tt TR 1 SHa a3 | Xitrar e o T 7 o aral it vl &1 guviiad FRen @) e sa wyaEq
TRt
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SHTIHRY-srefTy, Rerep-Rreneff, Bret-wt onfe At & fory fegad 1R HH TU 3 sawas ¢l Rendf & =ia &1 oiva 8 01 98 o Riere 9 difed Rien wid 78 & 9ol Shaar SfeRt ar siart &
Y-g-A1Y IGF AfRT H AT o T 71 39 g o1 ) U F St af ok sidhery sl & g, Rigrgmor ok faenfiai & fig qur e ok iR & i 7R vd v Sewy wifdd 819 §
o0 & W F BIe-Y-Ble Afad 981 B Gergyfe il IR A 71

2| F1E g 3R @ 07 78T 31 39 01 B iffa S o Iwar §1 TRARS TR 39 U 31 fAeRia ok faaid s & 91 Yt ot S 31 g it o eafdd Y ol Rl gl fRie, w, auT
IR ZHe! AP T 81 TRpd B9 & aRka &1 I8 a S 3T 81 I8 70 9950 Y T=a 3rdf & T1a 9101 €1 39 3] 101 1 30 Sfiaq Bl 1= ST T Udid A BT IRA S ¢ 399 79 B IR
gl

Q.No: 48 fd-Tu1 & BR ARG iR Hrfarfed &

A TG e R B g1

B TR T R BT 31

c TR TE WG T Rfd € 1
D T TG WA B

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
=T N T TTU TR S UgdR P U WA & 9ad Sfad IR K faded o 9 $ifeie-

Tiagad HagR T &1 Bl ok Ffddd $ IqUIfed il 71 I, TR 3R ufam sreror & <fta 31 feged F1aeR wdE afed & e fRaa 81 398 A 3t ©ifa sgdt 31 Xfiear fed Jee ged ok
T T 3R Tg 31 Rufeat wit S 7 Bl 39 T gae arareRur o giar @ o @it v a1 sgHa e &1 Xiaa safe s wods ® o ara et ) guwiiad a8 i 391 iyay
3Tt

SHRIFRI- s, Riere-Rigndf, Sid-ag snfe wrt & fore Merge oaeR w9H & § smazad 31 Riendf & e &1 ervra § d 98 o Riges A aifesa Rian w761 3% wwan faar sfert a1 s #
TIY--T1Y IS Al H A 37 Sl 71 59 37 01 &1 IURfa 7 Sifert af oiR ity el & <, Rig@mon ofR feenfidl & g aur we ofR Wit & 9 AR Td wiig 9 RIfE g1 §
0 & WY J BIe-Y-Blel Afed I31 Bt Gergyfa ifdid R A 71

e B gary AR 3 77 7Y B 39 U1 Y Sl oAt o Ahar §1 RN TR 39 0 31 s ofR fawdiid A § 92 Yt g1 Ra 81 0w YT A afd w@d ofe1 Fan g1 i, o9, qeT
3R gge1 AP Bl § | GERPd 7 & TR &1 g8 a = 30 1 78 0 7 B I 3l B Hid ST 81 39 Sed U1 B SR Siae B S 3 ST Ul A Bl WA ool 81 398 A B TR
gl

Q.No: 49 Iudam e & i # I o wog &1 WA eY fova T |2

A T
B Lrs
c L
D S

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= Y R g T $1 ggaR P Y Ul $ 9ad IR IR dTd fdded 31 99T Hifie-

eI SAAER AN $ UPia SR Afdid Bl IguIied Xl ol IaH, TRIFHT 3R ufaa 3R g e 31 agad oIaeR Yde ik & g e 31 S99 73 &1 S 9ed) ¢ Tear i 9T gad Sit
T P13k TE 31 Rufal Ft S 2 Biell1 39 T g araeRvr i g @ e wit ueeiar a1 sgHa R 81 aar e o wad ® o ara gt anil ) guwniad e 81 =i 3o syaq
R

-ty Riers-Rignell, B-asi enfe a4 & fore feged sgaeR T0F FU § snavas g1 Riendf & =ia &1 ou1g § df 95 o R | aifesa Rign v 78 R ean eaa sifert o st &
TIY-T-A1Y TGS Ao B e o St o1 39 S o1 31 JufRufa & siftrert F°f iR sifiy wedfarival & o, Rieremor ofR faenfat & dta qur s ok wfa & &9 OeR U we 9ray =i1fid 81 §
07 & W ¥ BR-Y-S1er Ak 91 3 TR Sifvi 3 e 31

ot IS getH 3R Y 707 7L &1 50 01 Y SAfRfa Biar o Wbl €1 RS TR 39 0 B AR SR fwid Sa § 98 Yty sie1 wvd &1 qo e O afd Wy o et ¢ Ria|, T, J&T
R 3HT foPT T 1 GG B & IRA &1 g X S ST ¥ g 01 FIW &Y A=Y ol B WG S €1 39 SR U1 H S SfiaA B SN SAT ST YRS TS B IRA FOA o) T IS @ N
gl

Q.No: 50 19 o/ R SR T T g1 F oY U e 1 99 Piferg-

A SRS
B Sifvge
C S
D 3R

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
= R fau T TR Y UgaR O T Ul & 9EY 3 IR a1 faded &1 9 Sifm-

Hfiergad AdER 73 3 UFha SR Ffdaa &1 Iguiied F=ar §1 oW, TR IR ufdd srerw §) it 81 Hioged JaeR vl sk & i fode 31 S A @ B St 71 X safda weaT gad ok
T P IR Tig Bt Rufeal S S T S| 3T T e arreRu Yo g § o @i T &1 SgHa a1 A Afad ofe wd § o At 3t Al B guifad FRar 31 S s udEq
Eil|

IRty Riera-Rignel, Brei-agt onfe gt & fere feged sraeR T0M FU  omawae g1 Riendf & e &1 g € df 95 o e & gifed fien v 78 = gaan aar sifert ar srant &
Y- IS A H QAT 3 S §1 39 ey 01 3 Uil & et f ok srdhiery et & offa, Rigrmmon SR faenfidi & g qu1 2 ok wiia & fi 7R vd Wi Tie w1fd 819 €
01 % Ao A Bie-3-SleT i 991 It Terayfa il &R Aar 31

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/43
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T P gad SR d 7T TN 1 3T T BT S ST S Fhall g1 TIRATNS WBR 36 07 B! fawierd SR faaiRd &1 & 91 YAt oid1 S ¢ 1 g AT ol Afad W Siel el gl feiad, 79, &t
3R 3HFT AT T 31 GHPd I & IR 1 g5 Nt S ST ¥1 g 01 HTE ) U= Sl B WG S 81 39 S U1 HY A S BT ST ST ST YAF AT BT IRA T 31 T I 1 R
gl

Q.No: 51 IUHa TR & SUR 3T HY I T4 Diforg-

A Rieroreif & =it &7 o & A 98 o1 i I ifsa fRuam v € FR THan
B e ¥ gety iR 3t o T B 59 0T Y S o S W 1

c Xegad SIaeR Tele safad & R sifgaes 81

D Tiage agR BT @ USSR afeda & Sguifed F=ar 81

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= = o T TR $1 ggaR g T Ul & 9eY 3 SR a1 faded 31 99 Sifoe-

fierged SHaER AT P UG 3R Afdid B Igued HRal 31 I, TG iR ufam serw €t < §1 ey SaeR ude sfd & g Raes 31 399 71 ) Sl dedl ¢ Xiear safd geeT ged ik
I XHT AR TE B Rufeatl F I T B 3T T g aranaRor Yo drar @ R @l v 1 ogua FRa ¥ iidar] sl o wd # o ara It |l Y gueifdd FRar 81 e g uyEq
3Tt

B refiy, Rieres-Ruene, Bet-ast snfe A+t F fry 2fieged saaeR T ¥U F saxas g1 Riendf & wfia &1 g § df 95 oo e A gifsa Rier v 78 TR Iban aar siftert ar srart &
Y- IS Al H AT 3 e §1 39 ey o1 Y Ui F St if oiR srehey wefanfiadt & o, Rigrpmon ok faenfiai & i qur 2 ok wRid & e TR vd Wi Te =g 819 §
01 & AW J Bie-9-Bel fd g1 3 Gergfa oifdia SR da 31

oiid I gy 3R & U1 T B1 39 g1 Y iRfa A o Thar §1 TRaRS TR 39 0 &) fAsiia 3R faia S 3 @) Yty srer wa 81 g yfieT ol sufd Wy et wedr g1 e, w, ST
IR ZqT e a1 ¥1 GRS BT & IR 51 g5 et S 3T ¥l T8 101 7 ) = Sl B THa ST S 39 S 101 B 3T S B =T SAT §HT Udd AT BT RA FHcd o1 309 T &1 R
gl

Q.No: 52 7 # ¥ 9Reg W1 31 997 PIforE-

A wa
B TR
C ST

D o

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= 9 fa T TR ST UgaR U T UK & Wed Ifd SR ard faded &1 99T Bifo-

Hfierged HaER I 1 UFT IR AfRia B Iguiied HRel 3| ST, TRITH SR ufam sireRvn € =i 31 oy aeR UaE i & e Rad) §1 599 e 1 Bl aedl 31 Xfiaar sfd dewT ged ok
3T T IR T @t et wit I 71t S| 308 V1 Y raraRvl Yiord giaT © o Wit v=Iat 31 SigHa Bed § | Tiaa e e Wi B o aret wft il o1 guHifad e 81 3ie ga gye
SR

SHTIHRY-srefTRy, Reres-Rienff, Brel-w8t onfe Qe & forw 2Megad FIaER HH TU I siawas gl Riendf & =ia &1 oiva § 01 98 o Rierd I difed Rien v 78 &= Ioanl ShaaH SfeRt ar sHar &
Y-g-Ary IS AT F refiTar o S ¥ 39 gy U1 3 SuRRARY F et °f ok sy gfaiadl & g, Rigrgmor ok faenliai & fig qur e ok iR & i AR vd e Sey wifdd 99 §
01 F Ao A Fie-3-Se i 991 Ft Terfa ifia &R dar 31

2| $1E gty ok @ 07 78T 31 T A0 B fa B o THal &1 TRARS TR 39 0 B! [Aafia o fRaid s & 91 Y oret avd 81 9o i o safda Wy o1 vl gl fife, 7, |euT
IR ZH@T IHTY Tl 81 GHRpa U7 & IR &1 98 e = ST R 1 78 707 9T 31 e ndf & T1a 41T 81 39 SEed U1 1 30 Sfiad &1 =1 offT T Te B9 B IRY Fud ¢l 399 T 3 TR
gl

Q.No: 53 Iuad T F SR, Merar et a1 wart & wWd: @ T AR 7 R -1y IS AfFad B el o Sl B
A AT I e

B A=Ay Bt T

C et @5t Bt

D SefiTRa it FH

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

AT P P UgHR TP Y U F T IFd SR 910 faded BT 99 Bive-
e 7 Uwwd 1 § TR,

7gl 7wy fagii # 15,

e 1 Fifid o 81

Tl S g o1 Al

REECRCARECG]

3{1exit @1 wiomm Sfdd,

wel o & ey fia &

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/43
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[T BT BT Wia!
TET R BTG FUE,
pird fga 5 31 S,
el o1 e a8l
SRl IR § &, T -
el & TR SR S
TY-STHY &0 HRd UT9H,
HIGH-§ T T R,
el P I ¢ dra!
oY T Y B B o1 K
7 1 T 9 R YR,
$9 HY Iad ITH R BT
a1 fagfisa dion & @R

Q.No: 54 7= & & Iwfad dfedt & TafaT S1 A Fa8e-

A e da

B TR T
c B TG feadt
D 7t g

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

I HToar Bl UgaR IR T Ul F 9ad 3fYd SeR at s &1 99 -

Tgi 1 uwrd 91 § wR,
gl = wy fogh & 1o,
il 1 Fiid & 38T
7el S Tl 1 !
Tgi 81 Weal # it
f1exit F wior Sfifgq,
Tgf ol § fom A &
Y=l B B Wiera!
Tl R BT qE U8,
i i S 1 Wi,
Y T e e
T8l IR B &, T T2~
STl T SR SRieT S
TY-STHY &0 HRd Y19,
IS8 1 7t Ry,
SRl 3T g ¢ da!
g TR X i B 1 F
g1 &1 781 ¥ R g,
%Y $Y I50 SHF R B
1 famgfisa dion & Rt

Q.No: 55 Juad Ta¥l & STER Rad RIF 3t gfdf ifor-
1 yewd o § 7R, 7 0y g

A e
B o
C SitaT
D it

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

AT P P UgHR TP Y U F T IFd SR 910 faded $1 99 Fifvie-
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Igi -1 Uewid 91 H TR,
a7 = my faril 1w,
Wfa &1 ifid & @1
T iy T 1 !
REEC BRG]
e @t wiom Sifaq,
aei oo § fomr fia &
Gzl I B Fiyat
Tel R 1 48 FEUR,
FiAd g 5 &1 ik,
el &1 e ag1
TET I T &, T a2-
STl 3 SRR aRieT
UY-STG &0 PR AT,
PIG-8 T A R,
&l 3T I & A
JH TeT Y B B o A
7 1 T8l W R g,
$U T Iad ITF R B
1 famfisa dion & W@

Q.No: 56 fmfifed & & fr wsg-gm &1 WAiFT Sudad dfdadi & fasar man 32

A SHI-SAT
B WO-TRA
C &UT-&or
D $U-Fq

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

g Froar B UgER IP T URAl F 9E9 3fd SaR It fawed @1 7 Fifer-
Igf 9 uewd a1 # W,
el 1wy el 1o,
Sfte @1 Frfid o a1
T 3w gl PI Je!
Tl 6 Weal H et
1axit Y wiomn Sifdq,
wgi o & o fa &
[T BT HAT Wea!
Tl /T BT gE FEU B,
P TIfed S I offa,
e I Ged el T
SRl IR 7 &, T a2-
el &= oIoR S
Y-S &1 Hd Y10,
HIG-H T HT Ry,
STET ST g § A
gAY Igi X i B o A
11 1 e T Ra YR,
%Y $Y I5d TP R B
T g dion & Ry

Q.No: 57 Iudad Uikl & SFUR R B §@ gl
A e g

B FEq

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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C R

D o

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

FAE=T: ST P g IP Y YA F I IFd SR 910l faded $1 90 Hifoe-

Tgi 9 g a1 § AR,
g5l 9 vy gl & 1w,
Sfte @1 Frfid & g1
TeT 31 g BT !
gl T wedl # e
ST P v Shifaa,
Tgi oef § ferr i
Yozl BT ST Gl
gl /T P gE FEU R,
P TIfed S 1 Wi,
Yol 1 Hed T
TIET IR T &, T -
Tl & Wi Srie
Y-S &0 A A,
BISI-H T T Ry,
el ST I § !
FH T X P BT o
T 1 T I YR,
&Y $Y I50 IF SR BT
1 fagfia dion & wR1

Q.No: 58 w1 % @ pidra &1 aref a1 §2

A e
B TR
c w
D Jerant

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

ST T B UG IP T UAl F Yo IfHd IaR at fased &1 79 Fif-

Tgi 7 veerd a1 H WK,
gl = wy fagl & 7o,
Siiad &1 Fiid & =T
TET 3w ged T el
EEECRCAREEC]
1eRit B wiemr Sifdq,
wei oo § o M &
Yo B B G
TgT R F1 gE FEU B,
I TfEd 5 P off,
Y1 BT e del
el SR § &, T -
Tl 3 TIeR Srie S
Y-S0 &07 Hd AT,
PG IR 7 Ry,
STRT 31T g § e
A &Y X HiA Y 1 H
71 51 7l ¥ R Y,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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&Y HY Iod 39D R DI
31 fagfi§a dion & @

Q.No: 59 HEIaR1 'S¢ I19d &I fadg! UMY Gelax o1 o T 87

A TG-TGIX S DT

B STRT-3HTRT BB PTH FEAT|
C quf A= AT

D -3 FEm

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=T S B UgaR gP M UL & 9ad I SR a e S 99 -

Igi 1 Uewd a1 H TR,
Tgi 7wy fagr 7 1o,
Sl 1 Wil & 38T
Tg1 3w gl BT !
el et Wedl A sl
1exit 3 wfern Sfifaq,
7gi ondf & fomr ol &
Y=l B BT Wiera!
T R 1 qE EUE,
i a5 &1 S,
el 1 Tl T
STET IR & &, T -
STeT &0 TR 3R 5
U-STG &0 R AT,
FIG-8 I HT R,
STl oI g § A
JAH TeT X Hf B o K
1 &1 e 9 R I,
$U $U I3 ITF RN I
g1 fagfisa dion & @

Q.No: 60 By & f= & A S-T1 991 82

A o8 T
B SEHIG TN
C HUYRY T
D o v

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?

2466948
26+ 126 x3+78x3=7

fafafed gy & usarEs 9% (?) & RIF | &1 36 9ige?

26 +126x3+78%x3=7?

638
A

638

642
B

642

645
C

645

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D 648

648

Correct Ans : A

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2467016

[(84)* — (49)7] =2

fufif@a gy & uyarEs [ (2) & RIFE W 7 (F afey?

[(84)° — (44)°] =?

5120
A

5120

5240
B

5240

5480
C

5480

5360
D

5360

Correct Ans : A

Subject : Mathematics

Q.No: 63 Find the sum of the first 10 prime numbers.
2467084

W & SHTST GO BT 4N 1 PR

101
A

101

151
B

151

149
C

149

129
D

129

Correct Ans : D

Subject : Mathematics

Q.No: 64 A circular running track has an inner radius of 21m and an outer radius of 35m. Find the area of the track.
2467483

% JBR IS Ug! &1 Sfafve B 21 Hiex IR aedt e 35 Hiex 31 ug) 1 &9 I S

2442 m?

A
24027
2444 m?

B
237

c 2464 m?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/43
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22247’
Correct Ans : C

Subject : Mathematics

Q.No: 65 If the radius of a cylinder becomes four times of the original radius and curved surface area remains unchanged, then height will be?
2467603

TR et g @ e w1 Biew 9 IR T 8 9 € IR 9% gdia dewa smRaffa e 8, @ Hoarg fea anf?

Four times
A
AR
Constant
B
BIE aRad el
One-fourth
[
T 9
Half
D
ST

Correct Ans : C

Subject : Mathematics

Q.No: 66 Five puffs and 2 samosas cost Rs.48. The cost of a puff is twice the cost of a samosa. Find the cost of a puff (in Rs).

2467722
Ui FAET 3R 2 TR BT B 48 IT B1 TH HAIS! I PN TS IHN P BN T S 81 TP peel 1 Ied G B (FUT F) |
4
A
4
6
B
c
8
10
D
10

Correct Ans : C

Subject : Mathematics

Q.No: 67 What should come in place of the question mark (?) in the following question?
2467852 (760 (26319

frafafiaa v & veaaras g (?) & TATH W T AT ATRT?
(76)2— (28)*="?

5014
A
5014
4975
B
4975
4992
c
4992
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/43
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500

Correct Ans : C

Subject : Mathematics

Q.No: 68 yyhap will be the value of v38 — V362

2467928

V38 — V36 BT AR AT G

8.66
A

8.66

0.31
B

0.31

0.93
[

0.93

0.73
D

0.73

Correct Ans : C

Subject : Mathematics

Q.No: 69 The sum of two angles of a triangle is equal to its third angle. Determine the third angle.

Tt Brye & < B BT AFT IGF AR B0 F ISR I 31 R B0 10 Pifow

2468164

100°
A

100°

80°
B

80°

120°
C

120°

90°
D

90°

Correct Ans : D

Subject : Mathematics

Q.No: 70 The subtraction of 4 times of p from q is

2468412
q ¥ p B4 TN
4q-p

A
4q9-p
ap-q

B
ap-q
q-4p

c
q-4p

D 4q +p

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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4q+p
Correct Ans : C

Subject : Mathematics

Q.No: 71 Which of the following fraction represent the given figure?
2468493

frofafea # & @ W e & T srpfa 31 weikfa wxdt 22

P
/

(33)
(23)
(23)
(23)
(23)
(23)

Correct Ans : C

Subject : Mathematics

Q.No: 72 Find the product of (3x* +2x +2)and (2x~ 1).
2469866

(3x% = 2x = 2) AR (2x + 1) B UHG I DI

6x3+ T+ 7x+2

A
6x3+7xI+7x -2
6x3+ 652+ Tx+2
B
6x3+6x2+Tx+2
Sx3I+7xI+6x+2
Cc
Sx3+TxI+6x+2
6x3+7x*+6x+2
D

6x3+7xI+6x+2
Correct Ans : D

Subject : Mathematics

;2:\%07130 Simlify: (Sy? — 2x2 + 5x — 11) — (5% — 6x2 — 9x — 10)
TR PBY: (8y? — 22 + 5x = 11) — (552 — 6x2 — 9x — 10)
A 3y +4x2 - 14x—1
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/43
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3yt+4x2—-14x—1

3yi-d4xi+ 14x -1

B
3y?-4xi+ 14x -1
3yi-4xP-14x -1
C
3yi-4x?-14x—1
3yirdxt+ldx—1
D

32+ 42+ 14— 1
Correct Ans : D

Subject : Mathematics

Q.No: 74  If radius of a circle increase by 3 cm then find the ratio of new circumference to new diameter.
2473330

TR U g3 31 i & 3 I 1 o Al B, A 7 oy o1 1w oo F sigu @ Ff
L
5

1
A
Tt
m:l
B
m:1
T+3:1
c
T+3:1
m+1:3
D
m+1:3

Correct Ans : B

Subject : Mathematics

Q.No: 75 Find the ratio of smallest natural number and smallest composite number.
2473389

T SIS Ui T IR T B HIST T BT U 1 DI

1:4
A
1:4
1:3
B
1:3
1:2
C
1:2
2:1
D
2:1

Correct Ans : A

Subject : Mathematics

Q.No: 76 A lesson plan develops the possibilities of
2475393

TF OIS TIoHT UGS & s Rig weedt §
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D

Adjustment
TR

Maladjustment
SeRIT

Deviation
fmem

Truancy

Correct Ans : A

Subject : Mathematics

Q.No: 77
2475531

Maximum of teaching is

fRiefor 3 sifipavar g

Linkage with life

e 4GS

Proceed from esay to complex

ST Sfed Bt Ak 78

Proceed from high to low

S= A FE ot iR TG

Read more and more

it 3§ it ug

Correct Ans : A

Subject : Mathematics

Q.No: 78
2476708

is considered “average” IQ.

Pl "3A" 1Q AT WIT &
50

50
100

100
150

150
200

200

Correct Ans : B

Subject : Mathematics

Q.No: 79 The technique for developing immunity in the body against pathogenic organisms by use of different immunizing agents is called

2476735

2 ufaRermr ToiEl & ITE @ Ao oidl & (e IR F Aemrdr [AHR TR Bt do-id B Hgl ol &

immunity

1 wiRe Wi

immunization

afcRem

resistance

TRy

analysis

TYpRT

Correct Ans : B
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Subject : Mathematics

Q.No: 80 If '-'is represented by "x', 'X' is represented by '+', '+' is represented by '+' and '+’ is represented by '-', then what will be the value of 35 x 25 + 667 + 46 - 4?

2479446

Tfe ' BT 'x* GRI, %' B+ GRI, '+ B+ GRI R '+ B '~ GRI GG O B, l 35 x 25 + 667 + 46-4 P A T T2

0
A

0

1
B

1

2
C

4
D

a4

Correct Ans : C

Subject : Mathematics

Q.No: 81  Which is not the demerit of language?

2481408
B W o 1 A A &2
The wrong pronunciation in voice
A TS H T =R
Very high voice
B ga Sl AT
No substitution of voice
¢ TS T IS TR T &
D Repetition in voice
ST

Correct Ans : C

Subject : Mathematics

Q.No: 82 which of the following statements cannot be considered as a feature of ‘learning’?
2481707

FofifEa 8 A S a1 sy W B kv & &9 7 76 A o Fbdl 82

Study of behaviour is learning

AR 1 S e &
Unlearning is also a part of learning
y e +f e 1 s o &
c Learning is a process that mediates behaviour

TR v Uit ufihar § S aeR § HerRydr ddl @

D Learning is something that occurs as a result of certain experiences
e o T e W $T
Correct Ans : A

Subject : Mathematics

Q.No: 83 According to the Forms and Factors of Measurement and Evaluation, we can classify
2481869

A0 R Yo & ©Ul IR FRS| & IR 4 F! aiffd H UFHd 31
Tests

TRy

Confusion

i

Errors

T

Evaluation
qdie

Correct Ans : C

D

Subject : Mathematics

Q.No: 84 Which of the following is most important for a teacher?
2482439
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fofifed & & o1 1@ RNes & e 9o aeagy 82

Classroom descipline

A DET T
Subject he is teaching

° ag o forwg vgT @1 §
Students of the class

¢ B S B

D Time available for teaching
Rraor & R Suas W

Correct Ans : C

Subject : Mathematics

Q.No: 85 What are the mathematical operations used in Interval scale?
2482579

Fexaq Wa § e 1w Afsmar &1 Iwdn fear S g2

Only counting

A s el
Ranking less than or greater
B e om a1 S
Addition, subtraction
C G’S, —
D All of the given options
g™

Correct Ans : C

Subject : Mathematics

Q.No: 86 To introduce the concept of fractions, a teacher can begin with
2482646

i 3 srauRon 1 o=y 3 & R, @ R 59F Ty gE o= o @

writing fractions in the form of a/b where b 0

A a/b & Y F fir e el b0
identifying fractional parts of things around them
? P - ) i 5 T ) T e
identifying numerators and denominators of different fractions
c fo 3 it o 0 gt e
D finding fractions on a number line
o v W Y I B

Correct Ans : B

Subject : Mathematics

Q.No: 87 The primary task of the teacher is :

2482737
e 1 Wfie a §:
To teach the prescribed curriculum.
A e weTsa Tgrl
To stimulate and guide student’s learning
? 3 o i s oM At
To ensure that all students belong to socially acceptable groups
¢ g TR e s ol o s = & o g 4 W 2
D To pro'mote habits of conformity to adult demands and expectations.

O A AR SdEnaHt F ST NG B TG I

Correct Ans : B

Subject : Mathematics

Q.No: 88 Which teaching technique is not suitable for primary stage?
2482842

B W@ Rieor aH-ie Mufiie TR & U Iuga 16 82

A Symposnum

B Explanation
e
Drill

¢

D Questioning
PELIED

Correct Ans : A

Subject : Mathematics
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Q.No: 89 Which one of the following is not the principle of teaching?

2482854
fofifea & & o R &1 frgia T8 82
A exposure
SR
B gradation
IAT
c review
e
D phonology

Correct Ans : C

Subject : Mathematics

Q.No: 90 If a piece of work could be completed in 24 days by 98 men, how many men would it to complete it in 21 days?

2483864 gy ol &1 e YT 98 GOHI GRI 24 =i § g1 foban S wepan 8, Y fbant il g1 39 ol Y 21 R & g1 b o1 Wb 82

A
B i
i3
° %

Correct Ans : B

Subject : Mathematics

Q.No: 91 The worst natural hazards in the tropical regions are:

2469444
Fufedd & ¥ 9al g0 Uploe @ 8
Tropical cyclones
A
FUHICH THaTa
Tsunami
B
gl
Floods
C
e
Earthquake
D
kol

Correct Ans : A

Subject : Environmental Study

Q.No: 92 Wheat grows well in which type of the soil?

2469486
g fora wepR & i) 3 3} v I7Ien 82
Black soil
A
Preit gt
Yellow soil
B
it gt
Red soil
C
ar gt
Alluvial soil
D
reitg fgt

Correct Ans : B

Subject : Environmental Study
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Q.No: 93 A potential source of biomass energy is:

2469512
TEHN Sll BT GG g1 GHIfId Wi 4 82
Paddy rice

A
4 91qq

Forestry residues

B

et SRy

Algae
C

Ryarar

Bagasse (Fibrous waste of sugarcane)
D

G (T F1WER ufiy)
Correct Ans : D

Subject : Environmental Study

Q.No: 94 From where the Geo-thermal energy is received?

2470065
-1 Sl Hel & U g 32
By burning of wood
A
B! o §
From under the land
B
s F I
As natural gas
C
Wpfad 9 % w9
By sun light
D
W AT

Correct Ans : B

Subject : Environmental Study

Q.No: 95 The conservation team found that a layer of mudstone in the hill was the main culprit which led to the collapse in different parts of fort, they suggested and successfully impler
2470690 there are sub-surface movement in the soil called

Wl T 3 url {5 uRiE H g & uoR 3 U wa g sruiddt ot R wwor fra & faftm Rt F vaw gorr, SR g7 yar e & o uws fafy @t ggia fean oiR awedgde s fama

Declinometer Testing

A
SfErHIcR Tem
plasticity testing
B
Rt aiigror
Inclinometer Testing
C
fFerieR wigmr
soil profile testing
D

a1 vipTEa T

Correct Ans : C

Subject : Environmental Study

Q.No: 96 American physicist and seismologist who developed the Richter scale for measuring earthquake magnitude.
2472151

siRa! M el ok sgpufaarit R 1y 31 daa & 7 & frg Raey Wea Rsfa e

A William richter
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faferm Raex

Charles Richter

B

e Ry

Antonie van leeuwenhoek
C

W 37 ST

Robert brown
D

e e
Correct Ans : B

Subject : Environmental Study

Q.No: 97 In 2008 India produced how much per cent of the world coffee production?
2472498

2008 # YR 7 fay 16! IdTe o1 foba1 Ufa=id e fear?

1.5 percent
A

1.5 viawd

50 percent
B

50 wiawd

3.2 percent
c

3.2 ufawa

6 percent
D

6 HfaRd

Correct Ans : C

Subject : Environmental Study

Q.No: 98 What is the major contributor to the development of the child’s mental capacity?
2472571

P B AFRIG &1 & Aem 3§ frger g Ier g 82

Heredity
A
ST
Family
B
RErR
Friends
C
R
Father
D
fon

Correct Ans : A

Subject : Environmental Study

Q.No: 99 The certification mark to assure the quality of agricultural product in India is

2472884
URA H FY I F rEw FAd FRA & e ymmfeRor Ard, |
AMUL
A
S
B Agmark
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ISI
(o)
ISI
Sanchi
D
Rl

Correct Ans : B

Subject : Environmental Study

Q.No: 100 The yolk or yellow protein makes up about percent of the liquid weight of the egg.
2472935
Wil e B O & TR qo BT T i e
12%
A
12%
22%
B
22%
43%
C
43%
33%
D
33%

Correct Ans : D

Subject : Environmental Study

Q.No: 101 Which community of Rajasthan is famous for nature conservation?

2473098
ISR T P A1 WHE Ul e & R ol 82
Banjara
A
T
Jain
B
Kl
Rajput
C
XIS
Bishnoi
D
fasi

Correct Ans : D

Subject : Environmental Study

<224N7%818032 India’s first ever satellite Aryabhata was launched using a/an launcher.
YR & I IIE T &l 0P SR (WA TF) BT ITANT v uafa faar mar am
American
A
St
Soviet
B
Hfaga
French
C
g
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D werman

s

Correct Ans : B

Subject : Environmental Study

Q.No: 103 Quantum cryptography is also considered as:

2474062
wieH PPt S 7 96 3
Future-proof
A
TE-w
Simple method
B
e fafy
Present-proof
C
-
Basic research
D

TS ST
Correct Ans : A

Subject : Environmental Study

Q.No: 104 Water pollution coming from a single point is known as:
2475723

T g § 31 a10) ST WgWUl B hRd  :

Single point pollution
A

T fiig g

Point source pollution
B

feig ¥t g

Peak pollution
C

R

Direct pollution
D

TG e
Correct Ans : B

Subject : Environmental Study

Q.No: 105 Manuring should be done at regular intervals, otherwise the plants become
2475776

aTe; Frafid S R HRA 9IfRT, st il EEfIGRd
Weak

FHAR

Productive

CRCED
Strong

Hefgd
Tall

el
Correct Ans : A

Subject : Environmental Study

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

28/43
Page - 28



Q.No: 106 Agriculture includes:
2475961

1. Growing crops

2. Growing flowers

3. Rearing of livestock

P F v §:
1,590l I
2.0 &1 I

3. URUIeH
Only 1 and 2

Faa 1 3R 2
Only 2and 3

Fad 2 3R 3
Only 1 and 3

Faq 1 IR 3
1,2and 3

1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 107 1In which month is the Taj festival celebrated in Agra?

2476422
STRT H A1l I 6 TR HAAN SIrell §2
November
A
TR
September
B
Rrdsr
February
Cc
wRad
January
D
SR

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Where was the first World Cup of Cricket organised?

2476451
fihdpe @1 uea fay Hu el sl faam T
England
A
s
South Africa
B
afor sipteT
Australia
C
SR
D India
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HRA
Correct Ans : A

Subject : Environmental Study

Q.No: 109 During an official table tennis match, how many minutes can a player have between games?
2476570

TF AAFIRG Taa 9 19 & SRM, 1@ Al & U™ < 10 & 4 fFam fiFe &1 8 faaar 82

1 minute
A

1 fiFe

2 minute
B

2fre

3 minute
C

3fe

4 minute
D

4 fme

Correct Ans : A

Subject : Environmental Study

Q.No: 110 What is the reward amount for the Tenzing Norgay National Adventure Award?

2476606

FARHT AT T ARRIE PR F oY R Tk 74 37

Rs. 5 lakh
A

5 WG ¥

Rs. 15 lakh
B

15 € ¥9

Rs. 7 lakh
C

7 I F

Rs. 8 lakh
D

8 UG ¥

Correct Ans : A

Subject : Environmental Study

Q.No: 111 The knowledge acquired by observation method is:

2477171
e faft grrafdflasm &
Temporary in nature
A
TPf # ot
Permanent in nature
B
TP # Wt
Familiar in nature
C
v & uRfm
Technological in nature
D

TPhd  aoiet

Correct Ans : B

Subject : Environmental Study

Q.No: 112
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2477179 Which of the following methods allows students to get a chance to express their feelings?

Pofifaa 3 9 39 O Y o6l oo gl B ord w3 &1 Al & 82

Retention
A
ufduror
Episodic
B
s
Experimental
C
e
Role playing
D
Yt e

Correct Ans : D

Subject : Environmental Study

Q.No: 113 Can group discussions be used in combination with other teaching method?

2477306
1 3 Rueror el &\ freres afe=ef o1 Iuai fean o g6l 82
Yes, as it will be more effective
A
o, i a5 oifte st S
No, as it will not be effective
B
e, s 7 et et g
No, as it will decrease productivity
Cc
7, Tl U IACHA A
No, as it will create chaos
D

T, FfS U5 SRIwwHAT Ia1 HEW
Correct Ans : A

Subject : Environmental Study

Q.No: 114 What is the most important reference and document for a teacher during the year?

2477350
¥ & RM UF Rey@ & e 999 veagef e iR axards @ 82
Lunch break timings
A
o 5P T EE
Assembly schedule
B
U FTHH
The school time-table
C
A Bl TRA-TA
Informal staff gatherings
D

SHIERe HHI Sow

Correct Ans : C

Subject : Environmental Study

Q.No: 115 When planning a programme for a learning visit, remember:
2477392

ST Y\ & T FEdET Ao S0 T, aTE 9

A don’t select activities to perform on site
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T W TR I & g fafafat o1 957 7 $¢

don’t decide a route, take random decisions

B

TN T T A R, qefDE Aol A

don’t try to accomplish too many activities in one visit
[

TF g AR & ymur § 9ga oifie den o yae T w5

don’t prepare worksheets
D

P T R 7B

Correct Ans : C

Subject : Environmental Study

Q.No: 116 The lowest region of the atmosphere is known as -

2477845
AGATST BT TG FET 87 Feaw @ -
troposphere
A
&hwsa
stratosphere
B
THA Hesd
thermosphere
C
YHRBIR
mesosphere
D
TERBIR

Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which of the following is a process of Disaster Risk Reduction?
2477918

1. Preparedness

2. Mitigation

Choose the correct code -

ol & 3 B suer Sy e #t ufsa 82
1. daRan (AigveTa)

2. A (iR

TE IS H -

Only 1

&Had 1
Only 2

&ad 2

Both 1 and 2

GHl 1 3R 2

Neither 1 nor 2

Fdr1eRTH2
Correct Ans : C

Subject : Environmental Study

Q.No: 118 The process of breaking down of detritus into smaller particles is called what?
2477964

RS (STTEeH) & BIe-BIe Bl ¥ ge ! ufhar &1 1 Hed 32
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A Decomposition

3T (SIHSIR)
Fragmentation

B
Fe (HTHeEE)
Breakdown

Cc
T (3PST)
Particlefication

D

FolteRur (IféFathasr)
Correct Ans : B

Subject : Environmental Study

Q.No: 119 What does the A in the ASSURE Model of ICT integration in the learning process stand for -
2478590

ST ufgran & oS, .. uPtaR0r B 3R (ASSURE) Als@ & A o7 guf &9 &1 82

Assess the class

A
BT BT BT (T & Tl
Analyze learners

B
FRremlf &7 feior (TTeTES )
Awaken curiosity

C
Torrer S BX (3% FRRE)
Arise doubts

D

g g1 I (IR SSTH)
Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following is/are different objective types of test-items?
2478648

1.True-false or alternate response items

2.Multiple-choice type

Choose the correct code -

Frafifad 4§ 19-31 wle-ug & fAfie a5 g udi & TR 82
1.90-39 1 fadbedl UPR & ug

2.5 fawediy ue

R BIS g -

Only 1

Fad 1
Only 2

Fad 2
Both 1 and 2

SFf 1 3R 2

Neither 1 nor 2

A1 ARAR 2

Correct Ans : C

Subject : Environmental Study

Q.No: 121 “Development is the result of the interaction between the organism and its environment” This statement is given by -
2473581
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"fIBT iiq 3R ITF ARl P S fhaT o1 ufawd & 98 T v g1 fem mar 3

James driver

A

S g

Skinner
B

ez

Hurlock
C

AP

Gesell
D

R

Correct Ans : B
Subject : Child Developement

Q.No: 122 1t is important for teachers to understand individual differences among learners so that

2474519
et & g a5 wowyyl § 5 § oFl & W sl SR 3 i dife
they can ensure that all students pass the examinations
A
98 T8 Gha &% 99a § 6 9t oEl 3 s s it §
they can create an atmosphere taking care of the learners’ differences
B
3 Rignffdt & Hael Bt &M ¥ T §U T qERy S Fha §
their work becomes easy
C
AP HH M B ST §
they can create a happy classroom
D

J U QR 1 &1 §od
Correct Ans : B

Subject : Child Developement

Q.No: 123 Which one of the following organisation of UN related with education?

2476142
T Y BT HH-1 TTo el s &2
UNICEF
A
I
UNESCO
B
T
uNo
C
gl
UNSC
D
qETgER

Correct Ans : B

Subject : Child Developement

Q.No: 124 Which of the statements is incorrect?
2476180

T q PH-91 B Tad 82

A Traits are not exclusively hereditary or environmental
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= qor (32) of w0 e a1 Aére dah e e

Heredity comprises of inherited and intrinsic genetic condition

B

e # fra # e aredt iR siaRe sngafie fRufy e Wl §

Environment or extrinsic forces are those influences brought to bear upon a new organism
C

TSV 1 e T T T § S T ofqurt W SRR ST §

Environment exercise a significant influence on height of body only
D

yafeRor R TR 3 TETE W ST SN T ST §

Correct Ans : D

Subject : Child Developement

Q.No: 125 Human development is
2476221

1. quantitative

2. qualitative

3. immeasurable to a certain extent

o faer §
1. AATHS

2. UITHAS
3. T fAfya e 9 A s @ ¥

Only 1 is correct

Faq 198

Only 2 is correct

Faa 29§

Only 3 is correct

P 3TN

Both 1 and 2 is correct

1R 2N THE

Correct Ans : D

Subject : Child Developement

Q.No: 126 The feeling of shame and pride develops in this stage

2476225
T srave & <f SR 71d 9 e R e @
Infancy
A
RS St
Childhood
B
EIGIER
Adolescence
C
frRRmEen
Adulthood
D
qaTHdar

Correct Ans : B

Subject : Child Developement

Q.No: 127 A premature baby
2476731

TG Ug ST gl a=
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A does not have fully developed body systems

T e W hE WRTT

faces major problems including difficulties in feeding and breathing
B

T SR T A A BITE AR 7St I HT A DA Tl §

has little or no resistance to disease and gets cold very quickly
(o

AT SRR & 5a B A1 el T Gl ¥ 9K g o) SeT B o &

has all the above mentioned complications
D

IR T e §
Correct Ans : D

Subject : Child Developement

Q.No: 128 The meaning of development is

2477439

far @1 3 @

progressive series of changes
A

ufkadt @t wfefter sEer

progressive series of changes as a result of motivation
B

o & uRuRaEd ufkadHt @t Wi e

progressive series of changes as a result of motivation and experience
c

RO 3R SrHa F IRUTREEY uRadHr @t wfasie sEar

series of changes as a result of maturation and experience
D

Ruer 3R SigHa & uRUREEY uRadHT @ gaar
Correct Ans : C

Subject : Child Developement

Q.No: 129 Malfunctioning of Islets of Langerhans result in

2477477
HTEATH SHith FTRET BT T F P17 & HA BT IR0 &ran &
Breathing problems
A
iy a7 H feawa
Decreased resistance to infections
B
THHU TRty H Bt
Diabetes
[+
Y
Liver infection
D

Ihd HshHUI
Correct Ans : C

Subject : Child Developement

Q.No: 130 The statement “Boys with conduct disorder are more likely to display physically aggressive and destructive behaviour than girls” is-

2477639
"R AR 918 T5d TSl Bt gar A IRRF T § 1D iR ARG raeR yelkfd #33 3t oifie Gura @d ' 98 T 8-
Incorrect

A
Gl

B Correct
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RIGCY

Flawed
C

Inapt
D

i

Correct Ans : B

Subject : Child Developement

Q.No: 131 Barrier-free school environment enables to move about safely and freely and use all the facilities within the school.
2478175

I) Children with disability

II) Children without disability

Choose the correct code

AR e FTadraRe 1 QREa 9K Wi ¥ § gAa o pa & iar welt glawrelt o1 Swdn S # wem e 31
i) fawam 5=

ii) o1 F¥ e & 5=

& PIS I

I) only

i) Pad
II) only

1I) $ad
Both I) and II)

1) 3R 11 SFf
Neither I) nor II)

Ad/ i) T8 i)
Correct Ans : C

Subject : Child Developement

Q.No: 132 The teacher finds that a group of children were preventing a few students from weaker sections of the society from drinking water from the tap. What should the teacher do?
2478187

% Rigid T8 S € & 7=l 1 U Wi, N & SOk a1l & $F I B Ad 1 g O S A6 W) 31 Rigd B w1 S Aige?

Suspend the problem creators immediately

A
T fmfdrs @i gia fefya $3
Arrange a separate tap
B
T 3T el Bl SR Y
Ask all the students to bring their own water-bottles
C
it farenfifal ot sroefi-sroet urdt @5t Sact TR & B
Convince all the students about the social equality
D

Tt B @) Wi TuHar & R H 9Heg

Correct Ans : D

Subject : Child Developement

Q.No: 133 In which year did the UNCRPD come into force?
2478284

7, AR 5w o ang gaim?
A 2008
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2008

2004
B

2004

2000
C

2000

2010
D

2010

Correct Ans : A

Subject : Child Developement

Q.No: 134 Which of the following is NOT true in context of school?

2479024
faamem & g A Foffa A S s waa T &2
School refers to a whole range of formal educational institutions.
A
o S el T 3 T T aa B Yehia w=ar g
School is a miniature society where children of different families, different religions, different castes and economic status come together, take part in collect
the society.
B
A F 7Y T § oot faftr afary, fafte o, faftm it ok anftfe Rufe & o= v o o €, TR nfafaftl & 4m 33 € SR W 3 e S Wi g
It is in school that whatever the child has learnt hitherto through family, peer group or community is unlearned.
C
Tg a A § 5 72 3 uRaR, T g 91 THEE F Wy § oF 96 o 3 ot IRar € 39 e Bl
At school children are socialized with the aim of preparing them for life and to assume a role befitting a world beyond the micro units.
D

it w= @Y SfteT F R 3R S IR 9eR Tl § Y g & R Swaw yftet P & SiRa & wrmiteaor far s 81

Correct Ans : C

Subject : Child Developement

Q.No: 135 John Dewey focuses more on:

2479494
S 5t oiftr e S wea @
Impractical education
A
SferagiiRey e
Practical education
B
g gt
Idealistic education
C
Snefard fren
Theoretical education
D

iferss e
Correct Ans : B

Subject : Child Developement

Q.No: 136 Who among the following said that one of the fundamental objectives of education is to develop a healthy character in a person?
2479565

e & 3 fre o1 5 Rien & qoyg Sl § § ue afdd 3 W 9k 31 e oo 82

John Dewey

A
S fEdt
Mahatma Gandhi
B
TgTe Tiielt
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C Sri Aurobindo

ot aRfET
Rabindra Nath Tagore

sy R

Correct Ans : B

Subject : Child Developement

Q.No: 137 Rabindra Nath Tagore held that the entire universe is one

2479621
i 1y &R 3 T wgef swiis e
Family
A
TRaR 3
Country
B
R
Book
C
&S ¥
Teacher
D
e 3

Correct Ans : A

Subject : Child Developement

Q.No: 138 The biological genesis of intelligence was explained by which of the following thinkers?

2479655
Frafafea # 4 foa fare 7 I 31 e Saf ot aren ot i
Charles Darwin
A
e sifd
Francis Galton
B
iRt fiee
Alfred Binet
C
3eps
Charles Spearman
D

= iR

Correct Ans : A
Subject : Child Developement

Q.No: 139 The is associated with positive feelings.
2479984
|, fumm wael 9 weita 2
Left frontal cortex
A
9 37 FeFe
Right frontal cortex
B
QR 3 depe
Limbic System
C
SUGeHAIY o
D Hypothalamus
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SaTAd

Correct Ans : A

Subject : Child Developement

Q.No: 140 According to which theory, all human beings have an innate desire to be aware about their successes and failures?
2480017

e figia & ogaR, 9t aaell § ol awaast ofR sawadst & TR § Tes gy @I e 3T 8kl 82

Attribution theory

A

SR 3 R

Expectancy value theory
B

TR T R

Behaviour demand theory
C

qeR A g

Value association theory
D

e T Rigia
Correct Ans : A

Subject : Child Developement

Q.No: 141 Which among the following prejudice is not related to education process in emotional development?
2480093

Fofifad & & o o yalug Samers e & Rien ufear & w&fta 78 82

Religion
A

eof

Gender
B

feim

Ageism
(o}

ST

Caste
D

Siifa

Correct Ans : C

Subject : Child Developement

Q.No: 142 Nita, a class-8 student, recently won a speech competition under the topic of 'terrorism and religion'. Which type of intelligence does Nita possess that made her speak well ak

2480236
<fier STt % e 8 P TP B 5, S o ©l 1 PGS 3R ' v F ded b T Ui St g1 il & O {59 TR 31 Iem ¢ e 98 TR Siad & 0 39 faw W e @
Linguistic intelligence
A
TR g
Intrapersonal intelligence
B
Sfarafdee g
Naturalistic intelligence
C
wepfeadt g
Existential intelligence
D

Hiscarksirt
Correct Ans : D

Subject : Child Developement
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Q.No: 143 The law which is not associated with heredity is

2480249
R & G o Faw T Y, 95 3 -
Like begets like
A
it S S g @
Law of variation
B
foreran &1 fraw
Law of Regression
C
uferm 1 fram
Law of Readiness
D

Al &1 Fram

Correct Ans : D

Subject : Child Developement

Q.No: 144 The term which means 'providing assistance' used by Vygotsky in his experiment is

2480360
B! 7 3O wE , Teg 1 A e 3, e ordf § et UeH SR §1
Modeling
A
AT
Scaffolding
B
BmifeT
Maudling
C
Hrsfim
Assisting
D
R

Correct Ans : B

Subject : Child Developement

Q.No: 145 The process flow: 'show-do-think-explain-solve' is applied mostly to develop which process of learning?

2480361
e TG "5 - T Wi SR AT 7 - i ) R e & Rig an Rea i 37
Unconscious incompetence
A
eI ST
Conscious competence
B
= &
Mastery
[+
CLol
Conscious incompetence
D

AT e
Correct Ans : C

Subject : Child Developement

Q.No: 146 Which of the following is true?

2480641
i. Growth is the progressive increase of various skills of a child or parts of a child.
ii. Continuous normal growth and development indicate a good state of health and nutrition of a child.
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iii. The genetic factors determine the potential and limitations of growth and development.

Choose the correct answer:

faddsma e &2

i. oo @ 7= 91 W I & o & faftm v 9 wfowda 9 7

ii. TR I 9f SR AP e 9= & area o O &t ot Rufy &1 W% 34§
iii, 3gaiRIE BRE i R fAwrg ot emar 3R el & FufRa Fa 81

g W F:
Only i
A
Fad i
Only ii
B
FId i
Only ii and iii
C
Fad i 3R i
All of the given options
D

g g wft fawe

Correct Ans : C

Subject : Child Developement

Q.No: 147 Gardner's theory of multiple intelligence says: -

2480687
TSR $1 98 ada &1 Rigia ar &:
intelligence can be rapidly accelerated
A
3w ® oft A T o FHar ¥
people have different kinds of intelligences.
B
fkt ¥ faft veR 2t gl S ¥
Teacher should follow one specific theory of educational innovation at the time of designing instruction.
C
R @ femea Ezm & w7 e TaRR & 0o ke Rigid &1 o s @il
There are ten type of intelligence
D

S 9 TR B Al B
Correct Ans : B

Subject : Child Developement

Q.No: 148 Which of the following methods helps a teaching aspirant to develop the ability to analyze the subject matter?
2480705

o B & o i vsfoal favg-avg o1 foxiun 733 i gmar ieiid $7 & e we Rigon 3ge Snfiear @ gerar axdt 82

Demonstrative technique.

A
TGS G
Live demonstration.
B
T e
Programmed instruction.
C
o fopg e fd
Psycho-feedback
D

T-wffsar
Correct Ans : C

Subject : Child Developement
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Q.No: 149 In a multiple-choice question. You have four possible answers but only one is right. In order to solve the problem, you would use which type of thinking.
2480753

TF Tgadic® Uy H, S1Ud U GuIfdd IR SR 81 § AT ST 9 Ue UE ST B U B 50 B & g St o veR 9 S T v g g

Convergent thinking

A
St |
Divergent thinking
B
SR e
Critical thinking
C
SelETHD i
Concrete thinking
D

3 |

Correct Ans : A

Subject : Child Developement

Q.No: 150 Understanding level in the level of teaching is given by
2480863

R & wR & 99T ®R % GRI o war g1
Herbart

L

Morrison

e

Hunt

g
Armstrong
Correct Ans : B

Subject : Child Developement
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